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8:32(23G*'%..,0&:,0320-%$/&
Example	
  5:	
  (We	
  Do)
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8:32(23G*'%..,0&:,0320-%$/&
Example	
  7:	
  Connection	
  to	
  Algebra	
  (We	
  Do)	
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8..%..6%03/&
Ticket	
  out	
  the	
  Door	
  Problems:	
  	
  Give	
  students	
  scratch	
  paper	
  and	
  write	
  both	
  problems	
  on	
  the	
  board.	
  
Check	
  for	
  student	
  understanding	
  before	
  students	
  leave	
  the	
  room.	
  	
  
	
  
Use	
  the	
  distributive	
  property	
  to	
  write	
  an	
  equivalent	
  expression.	
  Do	
  each	
  problem	
  2	
  ways.	
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Decomposition:	
  

	
  

Decomposition:	
  

	
  

	
  

Generic	
  Rectangle:	
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2)	
  

	
  

	
  

Generic	
  Rectangle:	
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Warm-­‐Up:	
  

Select	
  "Yes"	
  for	
  all	
  choices	
  that	
  represent	
  the	
  multiplication	
  problem	
   614• 	
  and	
  "No"	
  for	
  choices	
  that	
  do	
  

not.	
  For	
  all	
  "No"	
  choices,	
  write	
  the	
  correct	
  multiplication	
  problem.	
  

1)	
   ( ) ( )46106 •+• 	
  	
  

2)	
  

	
  

	
  

3)	
   ( ) ( ) ( ) ( ) ( ) ( )410410410410410410 +++++++++++ 	
  

4)	
   1414141414 ++++ 	
  

5)	
  	
  

	
  

	
  

6)	
  

	
  

Select	
  "Yes"	
  for	
  all	
  choices	
  that	
  represent	
  the	
  multiplication	
  problem	
   614• 	
  and	
  "No"	
  for	
  choices	
  that	
  do	
  

not.	
  For	
  all	
  "No"	
  choices,	
  write	
  the	
  correct	
  multiplication	
  problem.	
  

1)	
   ( ) ( )46106 •+• 	
  	
  

2)	
  

	
  

	
  

3)	
   ( ) ( ) ( ) ( ) ( ) ( )410410410410410410 +++++++++++ 	
  

4)	
   1414141414 ++++ 	
  

5)	
  	
  

	
  

	
  

6)	
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